

## **Insider Trading Report**

- \* This summary starts with each insider's opening balance as of June 2, 2014, if any. Balance includes shares held by individual directly, or indirectly, or by entities which he or she controls.

  \* All data is provided to the corporation by the individual insider. The insider is responsible to file insider reports on www.sedi.ca. This report includes only the option exercises transactions that result in a net change of the share ownership of the Insiders.

											Ol t
			Trade	Ownership		Number of	Price p	er		Opening Balance	Closing Balance
Name	Position	Date	Туре	Туре	Comment	Shares	share		Value	(shares)	(shares)
Don Gray	Chairman	04-Jun-14		Direct/Indirect	Opening Balance						6,755,506
Don Gray	Chairman	05-Sep-14	Buy	Direct	Private Placement	1,000,000	\$ 4	.00 \$	4,000,000	6,755,506	7,755,506
Don Gray	Chairman	02-Feb-16	Buy	Direct	Private Placement	405,500	\$ 1	.85 \$	750,175	7,755,506	8,161,006
Don Gray	Chairman				Consolidation (4:1) (1)					8,161,006	2,040,252
Don Gray	Chairman	13-Jul-16	Buy	Direct	Market	150,000	\$ 2	.00 \$	300,000	2,040,252	2,190,252
Don Gray	Chairman	15-Jul-16	Buy	Direct	Market	115,500	\$ 2	.00 \$	231,000	2,190,252	2,305,752
Don Gray	Chairman	23-Aug-16	Buy	Direct	Market	81,600		.05 \$	167,655	2,305,752	2,387,352
Don Gray	Chairman	23-Sep-16	Buy	Direct	Market	113,710	F	.93 \$	219,460	2,387,352	2,501,062
Don Gray	Chairman	30-Sep-16	Buy	Direct	Market	100,000	<u> </u>	.94 \$	194,000	2,501,062	2,601,062
Don Gray	Chairman	10-Nov-16	Buy	Direct	Market	79,100	_	.84 \$	145,544	2,601,062	2,680,162
Don Gray	Chairman	11-Nov-16	Buy	Direct	Market	100,000	-	.88 \$	188,000	2,680,162	2,780,162
Don Gray	Chairman	14-Nov-16	Buy	Direct	Market	77,900	<u> </u>	.87 \$	145,673	2,780,162	2,858,062
Don Gray	Chairman	15-Nov-16	Buy	Direct	Market	79,600	_	.08 \$		2,858,062	2,937,662
Don Gray	Chairman	16-Nov-16	Buy	Direct	Market	23,600		.25 \$		2,937,662	2,961,262
Don Gray	Chairman	18-Nov-16	Buy	Direct	Market	8,800	H	.35 \$	-,	2,961,262	2,970,062
Don Gray	Chairman	21-Nov-16	Buy	Direct	Market	52,000		.45 \$	127,400	2,970,062	3,022,062
Don Gray	Chairman	22-Nov-16	Buy	Direct	Market	29,700	<del>-</del>	.48 \$	73,656	3,022,062	3,051,762
Don Gray	Chairman	23-Nov-16	Buy	Direct	Market	21,000	_	.50 \$	52,500	3,051,762	3,072,762
Don Gray	Chairman	01-Dec-16	Buy	Direct	Private	8,564	<u> </u>	.49 \$	21,324	3,072,762	3,081,326
Don Gray	Chairman	05-Dec-16	Transfer	Indirect	Private	429,926	<u> </u>	.49 \$	, ,	3,081,326	3,511,252
Don Gray	Chairman	07-Dec-16	Buy	Direct	Market	34,600	-	.89 \$	99,994	3,511,252	3,545,852
Don Gray	Chairman	20-Dec-16	Buy	Direct	Market	6,000	H	.14 \$	-	3,545,852	3,551,852
Don Gray	Chairman Chairman	21-Dec-16	Buy	Direct	Market Market	100,000		.30 \$		3,551,852	3,651,852
Don Gray Don Gray	Chairman	06-Jan-17	Buy	Direct	Market	100,000		.19 \$ .20 \$	319,000	3,651,852	3,751,852
Don Gray	Chairman	06-Jan-17	Buy	Direct	Market	70,000	, ,	7	== .,	3,751,852	3,821,852
Don Gray	Chairman	09-Jan-17	Buy	Direct	Market	30,000	7 3	.20 \$ .99 \$	96,000	3,821,852	3,851,852
Don Gray	Chairman	13-Jan-17	Buy	Direct	Market	53,200	_		159,068	3,851,852	3,905,052
Don Gray	Chairman	16-Jan-17 17-Jan-17	Buy Buy	Direct Direct	Private	500 18,750		.00 \$ .98 \$	1,500 55,875	3,905,052 3,905,552	3,905,552 3,924,302
Don Gray	Chairman	28-Feb-17	Buy	Direct	Private Placement	1,585,000		.53 \$		3,924,302	5,509,302
Don Gray	Chairman	31-Mar-17	Buy	Direct	Market	7,900	-	.33 \$	18,723	5,509,302	5,517,202
Don Gray	Chairman	03-Apr-17	Buy	Direct	Market	132,700	_	.49 \$	330,423	5,517,202	5,649,902
Don Gray	Chairman	05-Apr-17	Buy	Direct	Market	20,100		.69 \$	54,069	5,649,902	5,670,002
Don Gray	Chairman	14-Jun-17	Buy	Direct	Market	50,800	<u> </u>	26 \$		5,670,002	5,720,802
Don Gray	Chairman	15-Jun-17	Buy	Direct	Market	11,300	<u> </u>	.30 \$	25,990	5,720,802	5,732,102
Don Gray	Chairman	16-Jun-17	Buy	Direct	Market	400	_	.30 \$	920	5,732,102	5,732,502
Don Gray	Chairman	22-Jun-17	Buy	Direct	Market	33,200	_	.17 \$	72,044	5,732,502	5,765,702
Don Gray	Chairman	23-Jun-17	Buy	Direct	Market	37,400	<u> </u>	.30 \$	-	5,765,702	5,803,102
Don Gray	Chairman	28-Jun-17	Buy	Direct	Market	44,000	_	.20 \$	96,800	5,803,102	5,847,102
Don Gray	Chairman	28-Jun-17	Buy	Direct	Market	11,100		.19 \$		5,847,102	5,858,202
Don Gray	Chairman	12-Jul-17	Buy	Direct	Market	162,100	7 -	.25 \$	364,725	5,858,202	6,020,302
Don Gray	Chairman	11-Aug-17	Buy	Direct	Market	188.000	_	.24 \$		6,020,302	6,208,302
Don Gray	Chairman	18-Aug-17	Buy	Direct	Market	1,100	<del>-</del>	.15 \$	2,365	6,208,302	6,209,402
Don Gray	Chairman	22-Aug-17	Buy	Direct	Market	2,700	_	.20 \$	5,940	6,209,402	6,212,102

Name	Position	Date	Trade Type	Ownership Type	Comment	Number of Shares	Price per share	Value	Opening Balance (shares)	Closing Balance (shares)
Don Gray	Chairman	23-Aug-17	Buy	Direct	Market	18,800	\$ 2.25	\$ 42,300	6,212,102	6,230,902
Don Gray	Chairman	24-Aug-17	Buy	Direct	Market	52,200	\$ 2.25	\$ 117,450	6,230,902	6,283,102
Don Gray	Chairman	25-Aug-17	Buy	Direct	Market	1,300	\$ 2.25	\$ 2,925	6,283,102	6,284,402
Don Gray	Chairman	28-Aug-17	Buy	Direct	Market	20,300	\$ 2.25	\$ 45,675	6,284,402	6,304,702
Don Gray	Chairman	29-Aug-17	Buy	Direct	Market	21,000	\$ 2.25	\$ 47,250	6,304,702	6,325,702
Don Gray	Chairman	30-Aug-17	Buy	Direct	Market	10,800	\$ 2.25	\$ 24,300	6,325,702	6,336,502
Don Gray	Chairman	31-Aug-17	Buy	Direct	Market	30,600	\$ 2.30	\$ 70,380	6,336,502	6,367,102
Don Gray	Chairman	01-Sep-17	Buy	Direct	Market	2,200	\$ 2.30	\$ 5,060	6,367,102	6,369,302
Don Gray	Chairman	06-Sep-17	Buy	Direct	Market	16,300	\$ 2.30	\$ 37,490	6,369,302	6,385,602
Don Gray	Chairman	07-Sep-17	Buy	Direct	Market	25,800	\$ 2.33	\$ 60,114	6,385,602	6,411,402
Don Gray	Chairman	08-Sep-17	Buy	Direct	Market	2,000	\$ 2.40	\$ 4,800	6,411,402	6,413,402
Don Gray	Chairman	14-Sep-17	Buy	Direct	Market	800	\$ 2.40	\$ 1,920	6,413,402	6,414,202
Don Gray	Chairman	15-Sep-17	Buy	Direct	Market	199,200	\$ 2.49	\$ 496,008	6,414,202	6,613,402
Don Gray	Chairman	18-Sep-17	Buy	Direct	Market	3,000	\$ 2.50	\$ 7,500	6,613,402	6,616,402
Don Gray	Chairman	17-Nov-17	Buy	Direct	Option exercise	4,800	\$ 2.33	\$ 11,184	6,616,402	6,621,202
Don Gray	Chairman	15-Dec-17	Buy	Direct	Market	100,000	\$ 1.55	\$ 155,000	6,621,202	6,721,202
Don Gray	Chairman	10-Aug-18	Buy	Direct	Market	120,500	\$ 0.83	\$ 100,015	6,721,202	6,841,702
Don Gray	Chairman	14-Aug-18	Buy	Direct	Market	37,500	\$ 0.93	\$ 34,875	6,841,702	6,879,202
Don Gray	Chairman	17-Aug-18	Buy	Direct	Market	35,000	\$ 1.00	\$ 35,000	6,879,202	6,914,202
Don Gray	Chairman	20-Aug-18	Buy	Direct	Market	16,400	\$ 1.00	\$ 16,400	6,914,202	6,930,602
Don Gray	Chairman	21-Aug-18	Buy	Direct	Market	73,000	\$ 1.05	\$ 76,650	6,930,602	7,003,602
Don Gray	Chairman	22-Aug-18	Buy	Direct	Market	25,000	\$ 1.05	\$ 26,250	7,003,602	7,028,602
Don Gray	Chairman	23-Aug-18	Buy	Direct	Market	12,600	\$ 1.05	\$ 13,230	7,028,602	7,041,202
Don Gray	Chairman	28-Aug-18	Buy	Direct	Market	17,200	\$ 1.04	\$ 17,888	7,041,202	7,058,402
Don Gray	Chairman	27-Jun-19	Buy	Direct	Market	256,000	\$ 0.29	\$ 74,240	7,058,402	7,314,402
Don Gray	Chairman	25-Mar-21	Buy	Direct	Market	5,708,074	\$ 0.30	\$ 1,712,422	7,314,402	13,022,476
Don Gray	Chairman	22-Sep-21	Buy	Direct	Private Placement	15,636,364	\$ 0.55	\$ 8,600,000	13,022,476	28,658,840
Don Gray	Chairman	29-Apr-22	Buy	Direct	Exercise of Rights	4,100,516	\$ 1.35	\$ 5,535,697	28,658,840	32,759,356
Don Gray	Chairman	07-Sep-22	Buy	Direct	Private Agreement	879,000	\$ 1.79	\$ 1,573,410	32,759,356	33,638,356
Don Gray	Chairman	28-Nov-22	Buy	Direct	Private Agreement	393,332	\$ 2.75	\$ 1,081,663	33,638,356	34,031,688
Patrick Arnell	Director	04-Jun-14		Indirect	Opening Balance	1		1		525,000
Patrick Arnell	Director	05-Sep-14	Buy	Direct	Private Placement	25,000	\$ 4.00	\$ 100,000	525,000	550,000
Patrick Arnell	Director	03-3ep-14 02-Feb-16	Buy	Direct	Private Placement	108,100	\$ 1.85		550,000	658,100
Patrick Arnell	Director	02-160-10	Биу	Direct	Consolidation (4:1) (1)	100,100	1.03 پ	2 133,363	658,100	164,525
Patrick Arnell	Director	29-Aug-16	Transfer	Direct	Fund Transfer	31.175	\$ 2.09	\$ 65,156	164,525	195,700
Patrick Arnell	Director	29-Aug-16 17-Nov-17	Buy	Direct	Option exercise	31,175	\$ 2.09		195,700	198,870
Patrick Arnell	Director	29-Apr-22	Buy	Direct	Exercise of Rights	27,124	\$ 2.33		198,870	225,994

				ı				Opening	Closing	
Name	Position	Data	Trade	Ownership	Comment	Number of	Price per	Value	Balance (shares)	Balance (shares)
Ken Gray	CEO & Director	Date 11-Mar-21	Туре	Туре	Opening Balance	Shares 23,400	share	Value	(silares)	23,400
Ken Gray	CEO & Director	05-Oct-21	Buy	Direct	Market	10,000	\$ 0.78	\$ 7,761	23,400	33,400
Ken Gray	CEO & Director	05-Oct-21	Buy	Direct	Market	500	\$ 0.73	\$ 365	33,400	33,900
Ken Gray	CEO & Director	16-Oct-21	Buy	Direct	Market	2,500	\$ 0.72	\$ 1,800	33,900	36,400
Ken Gray	CEO & Director	21-Oct-21	Buy	Direct	Market	12,500	\$ 0.75	\$ 9,375	36,400	48,900
Ken Gray	CEO & Director	03-Nov-21	Buy	Direct	Market	2,500	\$ 0.76	\$ 1,900	48,900	51,400
Ken Gray	CEO & Director	04-Nov-21	Buy	Direct	Market	3,500	\$ 0.76	\$ 2,660	51,400	54,900
Ken Gray	CEO & Director	30-Nov-21	Buy	Direct	Market	44,500	\$ 0.77	\$ 34,265	54,900	99,400
Ken Gray	CEO & Director	01-Dec-21	Buy	Direct	Market	5,500	\$ 0.77	\$ 4,235	99,400	104,900
Ken Gray	CEO & Director	14-Mar-22	Buy	Direct/Indirect	Compensation for Property	2,912,157	\$ 1.44	\$ 4,193,506	104,900	3,017,057
Ken Gray	CEO & Director	14-Mar-22	Buy	Direct/Indirect	Exercise of Rights	431,574	\$ 1.35	\$ 582,625	3,017,057	3,448,631
Ken Gray	CEO & Director	23-Jun-22	Buy	Direct	Market	18,500	\$ 2.14	\$ 39,643	3,448,631	3,467,131
Ken Gray	CEO & Director	29-Jun-22	Buy	Direct	Market	20,000	\$ 2.21	\$ 44,156	3,467,131	3,487,131
Ken Gray	CEO & Director	30-Jun-22	Buy	Direct	Market	30,000	\$ 2.08	\$ 62,338	3,487,131	3,517,131
Ken Gray	CEO & Director	01-Sep-22	Buy	Direct	Market	20,000	\$ 1.85	\$ 37,000	3,517,131	3,537,131
Ken Gray	CEO & Director	01-Dec-22	Buy	Direct	Option Exercise	83,333	\$ 0.75	\$ 62,500	3,537,131	3,620,464
Ken Gray	CEO & Director	01-Dec-22	Buy	Direct	Option Exercise	45,000	\$ 0.89	\$ 40,050	3,620,464	3,665,464
Ken Gray	CEO & Director	09-Dec-22	Buy	Direct	Market	20,000	\$ 2.25	\$ 45,000	3,665,464	3,685,464
Ken Gray	CEO & Director	03-Apr-23	Sell	Direct	Market Market	- 2,600	\$ 1.88 \$ 1.79	-\$ 4,888 -\$ 17,900	3,685,464	3,682,864
Ken Gray Ken Gray	CEO & Director CEO & Director	14-Apr-23 16-May-23	Sell	Direct Direct	Market	- 10,000 10,000	\$ 1.79 \$ 1.47	-\$ 17,900 \$ 14,700	3,682,864 3,672,864	3,672,864 3,682,864
Ken Gray	CEO & Director	05-Jun-23	Buy Buy	Direct	Option Exercise	119,277	\$ 0.53	\$ 63,217	3,682,864	3,802,141
Ken Gray	CEO & Director	16-May-23	Sell	Direct	Market	- 5,000	\$ 1.55	-\$ 7,750	3,802,141	3,797,141
Ken Gray	CEO & Director	16-May-23	Sell	Direct	Market	- 15,000	\$ 1.55	-\$ 23,250	3,797,141	3,782,141
Ken Gray	CEO & Director	16-May-23	Sell	Direct	Market	- 5,400	\$ 1.57	-\$ 8,478	3,782,141	3,776,741
Ken Gray	CEO & Director	27-Jun-23	Buy	Direct	Market	4,000	\$ 1.45	\$ 5,800	3,776,741	3,780,741
Ken Gray	CEO & Director	28-Jun-23	Buy	Direct	Market	6,000	\$ 1.44	\$ 8,640	3,780,741	3,786,741
Ken Gray	CEO & Director	10-Jul-23	Sell	Direct	Market	- 10,000	\$ 1.70	-\$ 17,000	3,786,741	3,776,741
Ken Gray	CEO & Director	11-Jul-23	Sell	Direct	Market	- 10,000	\$ 1.75	-\$ 17,500	3,776,741	3,766,741
Ken Gray	CEO & Director	24-Aug-23	Buy	Direct	Market	6,900	\$ 1.45	\$ 10,005	3,766,741	3,773,641
Ken Gray	CEO & Director	28-Aug-23	Buy	Direct	Market	100	\$ 1.45	\$ 145	3,773,641	3,773,741
Ken Gray	CEO & Director	05-Sep-23	Sell	Indirect	Market	- 10,000	\$ 1.58	-\$ 15,800	3,773,741	3,763,741
Ken Gray	CEO & Director	07-Sep-23	Buy	Direct	Market	5,000	\$ 1.46	\$ 7,300	3,763,741	3,768,741
Ken Gray	CEO & Director	19-Sep-23	Buy	Direct	Market	10,000	\$ 1.44	\$ 14,400	3,768,741	3,778,741
Ken Gray	CEO & Director	21-Sep-23	Buy	Direct	Market	20,000	\$ 1.38	\$ 27,600	3,778,741	3,798,741
Ken Gray	CEO & Director	25-Sep-23	Buy	Direct	Market	1,632	\$ 1.36	\$ 2,220	3,798,741	3,800,373
Ken Gray	CEO & Director	26-Sep-23	Buy	Direct	Market	8,368	\$ 1.36	\$ 11,380	3,800,373	3,808,741
Ken Gray	CEO & Director	04-Oct-23	Buy	Direct	Market Market	4,600	\$ 1.34	\$ 6,164	3,808,741	3,813,341
Ken Gray	CEO & Director	05-Oct-23	Buy	Direct	Market	5,400	\$ 1.34	\$ 7,236	3,813,341	3,818,741
Ken Gray	CEO & Director CEO & Director	11-Nov-23 05-Dec-23	Buy	Direct Direct	Acquisition by Inheritance	5,000 62,884	\$ 1.32 \$ 1.22	\$ 6,600 \$ 76,718	3,818,741 3,823,741	3,823,741 3,886,625
Ken Gray Ken Gray	CEO & Director	03-Dec-23 02-Jan-24	Buy Buy	Direct	Option Exercise	2,565	\$ 0.89	\$ 2,283	3,886,625	3,889,190
Ken Gray	CEO & Director	02-Jan-24	Buy	Direct	Option Exercise	2,524	\$ 0.89	\$ 2,246	3,889,190	3,891,714
Ken Gray	CEO & Director	05-Jan-24	Buy	Direct	Option Exercise	2,565	\$ 0.89	\$ 2,283	3,891,714	3,894,279
Ken Gray	CEO & Director	09-Jan-24	Buy	Direct	Option Exercise	3,910	\$ 0.89	\$ 3,480	3,894,279	3,898,189
Ken Gray	CEO & Director	10-Jan-24	Buy	Direct	Option Exercise	3,489	\$ 0.75	\$ 2,617	3,898,189	3,901,678
Ken Gray	CEO & Director	11-Jan-24	Buy	Direct	Option Exercise	3,489	\$ 0.75	\$ 2,617	3,901,678	3,905,167
Ken Gray	CEO & Director	15-Jan-24	Buy	Direct	Option Exercise	4,652	\$ 0.75	\$ 3,489	3,905,167	3,909,819
Ken Gray	CEO & Director	24-Jan-24	Buy	Direct	Option Exercise	3,420	\$ 0.75	\$ 2,565	3,909,819	3,913,239
Ken Gray	CEO & Director	06-Feb-24	Buy	Direct	Option Exercise	6,552	\$ 0.75	\$ 4,914	3,913,239	3,919,791
Ken Gray	CEO & Director	08-Feb-24	Buy	Direct	Option Exercise	6,477	\$ 0.75	\$ 4,858	3,919,791	3,926,268
Ken Gray	CEO & Director	08-Feb-24	Buy	Direct	Option Exercise	6,552	\$ 0.75	\$ 4,914	3,926,268	3,932,820
Ken Gray	CEO & Director	12-Feb-24	Buy	Direct	Option Exercise	13,250	\$ 0.75	\$ 9,938	3,932,820	3,946,070
Ken Gray	CEO & Director	14-Feb-24	Buy	Direct	Option Exercise	6,400	\$ 0.75	\$ 4,800	3,946,070	3,952,470
Ken Gray	CEO & Director	15-Feb-24	Buy	Direct	Option Exercise	6,400	\$ 0.75	\$ 4,800	3,952,470	3,958,870
Donald Cormack	Director	09-Oct-14			Opening Balance					-
Donald Cormack	Director	10-Oct-14	Buy	Direct	Private Placement	75,000	\$ 4.00		-	75,000
Donald Cormack	Director	02-Feb-16	Buy	Direct	Private Placement	10,000	\$ 1.85	\$ 18,500	75,000	85,000
Donald Cormack	Director				Consolidation (4:1) (1)				85,000	21,250
Donald Cormack	Director	20-Nov-17	Buy	Direct	Option Exercise	374	\$ 2.33	\$ 871	21,250	21,624
Donald Cormack	Director	29-Apr-22	Buy	Direct	Exercise of Rights	2,996	\$ 1.35	\$ 4,045	21,624	24,620

Name	Position	Date	Trade Type	Ownership Type	Comment	Number of Shares	Price per share	Value	Opening Balance (shares)	Closing Balance (shares)
Mathew Wong	VP Finance & CFO	12-Apr-21		Direct	Opening Balance					-
Mathew Wong	VP Finance & CFO	12-Apr-21		Direct	Option Exercise	3,000	\$ 0.77	\$ 2,310	-	3,000
Mathew Wong	VP Finance & CFO	29-Apr-22	Buy	Direct	Exercise of Rights	415	\$ 1.35	\$ 560	3,000	3,415
Mathew Wong	VP Finance & CFO	17-May-22	Buy	Direct	Option Exercise	7,643	\$ 0.45	\$ 3,439	3,415	11,058
Mathew Wong	VP Finance & CFO	20-May-22	Sell	Direct	Market	- 2,100	\$ 0.45	\$ (945)	11,058	8,958
Mathew Wong	VP Finance & CFO	24-May-22	Sell	Direct	Market	- 5,958	\$ 0.45	\$ (2,681)	8,958	3,000
Mathew Wong	VP Finance & CFO	07-Jul-22	Buy	Direct	Option Exercise	6,126	\$ 0.32	\$ 1,960	3,000	9,126
Mathew Wong	VP Finance & CFO	04-Oct-22	Sell	Direct	Option Exercise / Market	- 8,670	\$ 2.03	\$ (17,600)	9,126	456
Mathew Wong	VP Finance & CFO	01-Dec-22	Buy	Direct	Option Exercise	2,465	\$ 0.24	\$ 579	456	2,921
Mathew Wong	VP Finance & CFO	06-Jan-23	Buy	Direct	Option Exercise	12,930	\$ 0.26	\$ 3,362	2,921	15,851
Mathew Wong	VP Finance & CFO	16-May-23	Buy	Direct	Market	1,400	\$ 1.47	\$ 2,058	15,851	17,251
Mathew Wong	VP Finance & CFO	24-May-23	Buy	Direct	Option Exercise	5,229	\$ 0.53	\$ 2,771	17,251	22,480
Mathew Wong	VP Finance & CFO	29-May-23	Sell	Direct	Market	- 5,200	\$ 1.58	\$ (8,216)	22,480	17,280
Mathew Wong	VP Finance & CFO	01-Jun-23	Buy	Direct	Option Exercise	6,667	\$ 0.53	\$ 3,534	17,280	23,947
Mathew Wong	VP Finance & CFO	05-Jul-23	Sell	Direct	Market	- 1,100	\$ 1.62	\$ (1,782)	23,947	22,847
Mathew Wong	VP Finance & CFO	06-Jul-23	Sell	Direct	Market	- 5,500	\$ 1.62	\$ (8,910)	22,847	17,347
Mathew Wong	VP Finance & CFO	14-Sep-23	Buy	Direct	Option Exercise	15,500	\$ 0.23	\$ 3,565	17,347	32,847
Mathew Wong	VP Finance & CFO	14-Sep-23	Buy	Direct	Market	- 4,000	\$ 1.51	\$ (6,040)	32,847	28,847
Mathew Wong	VP Finance & CFO	15-Sep-23	Sell	Direct	Market	- 6,000	\$ 1.51	\$ (9,060)	28,847	22,847
Mathew Wong	VP Finance & CFO	18-Oct-23	Buy	Direct	Market	3,800	\$ 1.46	\$ 5,548	22,847	26,647
Mathew Wong	VP Finance & CFO	12-Dec-23	Buy	Direct	Option Exercise	7,588	\$ 0.24	\$ 1,783	26,647	34,235
Mathew Wong	VP Finance & CFO	15-Dec-23	Sell	Direct	Market	- 6,000	\$ 1.36	\$ (8,160)	34,235	28,235
Mathew Wong	VP Finance & CFO	19-Dec-23	Buy	Direct	Option Exercise	46,183	\$ 0.79	\$ 36,485	28,235	74,418
Mathew Wong	VP Finance & CFO	20-Dec-23	Sell	Direct	Market	- 900	\$ 1.34	\$ (1,206)	74,418	73,518
Mathew Wong	VP Finance & CFO	22-Dec-23	Sell	Direct	Market	- 9,200	\$ 1.28	\$ (11,776)	73,518	64,318
Mathew Wong	VP Finance & CFO	27-Dec-23	Sell	Direct	Market	- 6,200	\$ 1.28	\$ (7,936)	64,318	58,118
Mathew Wong	VP Finance & CFO	28-Dec-23	Sell	Direct	Market	- 300	\$ 1.32	\$ (396)	58,118	57,818
Mathew Wong	VP Finance & CFO	29-Dec-23	Sell	Direct	Market	- 2,300	\$ 1.32	\$ (3,036)	57,818	55,518
Glen Gray	Major Shareholder	25-Mar-21		Direct/Indirect	Opening Balance	6,794,367		\$ -	-	6,794,367
Glen Gray	Major Shareholder	07-Jun-21	Buy	Direct/Indirect	Market	7,000	\$ 0.62	\$ 4,340	6,794,367	6,801,367
Glen Gray	Major Shareholder	22-Sep-21	Buy	Direct/Indirect	Private Placement	15,636,364	\$ 0.55	\$ 8,600,000	6,801,367	22,437,731
Glen Gray	Major Shareholder	14-Mar-22	Buy	Direct/Indirect	Compensation for Property	1,997,519	\$ 1.44	\$ 2,876,427	22,437,731	24,435,250
Glen Gray	Major Shareholder	01-May-22	Buy	Direct/Indirect	Exercise of Rights	3,496,202	\$ 1.35	\$ 4,719,873	24,435,250	27,931,452
Glen Gray	Major Shareholder	23-Jun-22	Buy	Direct/Indirect	Market	20,600	\$ 2.07	\$ 42,642	27,931,452	27,952,052
Glen Gray	Major Shareholder	23-Jun-22	Buy	Direct/Indirect	Market	128,500	\$ 2.18	\$ 280,130	27,952,052	28,080,552
Glen Gray	Major Shareholder	28-Nov-22	Buy	Direct/Indirect	Private Agreement	383,332	\$ 2.75	\$ 1,054,163	28,080,552	28,463,884

Name	Position	Date	Trade Type	Ownership Type	Comment	Number of Shares	Price per share		Value	Opening Balance (shares)	Closing Balance (shares)
Stuart Gray	Major Shareholder	22-Sep-21		Direct/Indirect	Opening Balance	4,941,867		\$	-	-	4,941,867
Stuart Gray	Major Shareholder	22-Sep-21	Buy	Direct/Indirect	Private Placement	15,636,364	\$ 0.55	\$	8,600,000	4,941,867	20,578,231
Stuart Gray	Major Shareholder	14-Mar-22	Buy	Direct/Indirect	Compensation for Property	1,997,519	\$ 1.44	\$	2,876,427	20,578,231	22,575,750
Stuart Gray	Major Shareholder	29-Apr-22	Buy	Direct/Indirect	Exercise of Rights	3,230,146	\$ 1.35	\$	4,360,697	22,575,750	25,805,896
								_			
Peter Verburg	Director	29-Jun-21		Direct/Indirect	Opening Balance	61,361		\$	-	-	61,361
Peter Verburg	Director	29-Apr-22	Buy	Direct	Exercise of Rights	9,504	\$ 1.35	\$	12,830	61,361	70,865
Peter Verburg	Director	28-Sep-22	Sell	Indirect	Market	- 11,500	\$ 1.96	\$	(22,540)	70,865	59,365
Peter Verburg	Director	23-Mar-23	Buy	Direct	Market	15,000	\$ 1.86	\$	27,900	59,365	74,365
Peter Verburg	Director	21-Apr-23	Buy	Direct	Market	8,000	\$ 1.67	\$	13,360	74,365	82,365
Peter Verburg	Director	15-Nov-23	Buy	Direct	Market	10,000	\$ 1.33	\$	13,300	82,365	92,365
Matt Skanderup	C00	24-May-22		Direct	Opening Balance	73,150		\$	-	-	73,150
Matt Skanderup	C00	21-Jun-22	Buy	Direct	Exercise of Options	8,781	\$ 0.32	\$	2,810	73,150	81,931
Matt Skanderup	coo	23-Aug-22	Buy	Direct	Exercise of Options	25,988	\$ 0.23	\$	5,977	81,931	107,919
Matt Skanderup	C00	30-Nov-22	Buy	Direct	Exercise of Options	12,994	\$ 0.23	\$	2,989	107,919	120,913
Matt Skanderup	C00	27-Dec-22	Buy	Direct	Exercise of Options	25,988	\$ 0.26	\$	6,757	120,913	146,901
Matt Skanderup	C00	20-Sep-23	Buy	Direct	Exercise of Options	25,988	\$ 0.23	\$	5,977	146,901	172,889
Matt Skanderup	COO	01-Dec-23	Buy	Direct	Exercise of Options	12,994	\$ 0.24	\$	3,054	172,889	185,883
Matt Skanderup	coo	07-Feb-24	Buy	Direct	Market	1,800	\$ 1.27	\$	2,286	185,883	187,683
Matt Skanderup	COO	13-Feb-24	Buy	Direct	Exercise of Options	39,750	\$ 0.75	\$	29,813	187,683	227,433
Matt Skanderup	C00	13-Feb-24	Buy	Direct	Exercise of Options	10,157	\$ 0.89	\$	9,040	227,433	237,590
	I		ı					1.		T	
Lindsay Hatcher	VP Corporate Development	09-Feb-23		Direct	Opening Balance	24,286		\$	-	-	24,286
Lindsay Hatcher	VP Corporate Development	24-Mar-23	Buy	Direct	Market	3,000	\$ 1.80		5,400	24,286	27,286
Lindsay Hatcher	VP Corporate Development	31-Aug-23	Buy	Direct	Exercise of Options	6,746	\$ 0.23		1,552	27,286	34,032
Lindsay Hatcher	VP Corporate Development	02-Jan-24	Buy	Direct	Exercise of Options	9,554	\$ 0.24	_	2,245	34,032	43,586
Lindsay Hatcher	VP Corporate Development	25-Jan-24	Buy	Direct	Exercise of Options	12,386	\$ 0.75	_	9,290	43,586	55,972
Lindsay Hatcher	VP Corporate Development	25-Jan-24	Buy	Direct	Exercise of Options	6,413	\$ 0.89	\$	5,708	55,972	62,385
Total Insider Holdings											92,958,810
Total Shares Outstanding											124,549,518

Notes 74.6%